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��� ���;��  �

�$ >��
$ �$F�� UF;�� �� k5 ����� �� ��C� �� �3����5 /�2	X�  /�� �� ���&

 I�� �� �@� � 7
+ ����5 /�2	X� <�6�� �� 7��
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�& ��  ��1346  ��

1364  ���  h;1100 .�& <�6�� ����5  �� ��
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� 4�03� .���� %1���� ��Q0$ /��� �� ��&*5 L��� 4*��#2005   4����

 �� �-� ��
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�H � ���8   .%&[H�� I�� 
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 �� �-�L�� B�0�) ���5 %@+�
$ $�.�0�   

��$
�� 2�	3: �� %�� ����&*5 �� ��� �, ��  |�
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1  - Human leukocyte antigen (HLA) 



 

 

 

 

 

 

 

 

 

 

  

  

19 �	�� �� 
���� ����	  � 

• B��&*������� "�0��-$ B^�1�$ � ����� %C� B�0A' "�0��-$ B
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�� ��& 4��� �$ ��& �� ��
� �3 �� ��, 8�+� ���
� 4�& � ��
� B����5 �'�� 

J�XC� 4��� 4�&���. 

 
���� 
���� "
���	 
��� %�N O���'  

���X2�� ��$�� ��
� ����5 �9
H  ��
� ������� ���:� �
 
$�$ �&�� �� �9)

 ������� <��� �$� (�H��� %�O�� ��@:� ��(' �� �9 � ��-� D���� ?3�� ��('

 %1���� %:# ���� ������ %�� /��$ ��
� /$*$ ������� ���:� �
 
$ ��

.�0&�@� ��
� ����5  ������� /�� %
� /��3 ���@0# ��  ���$ �2	��� "��O2$ ��3

+ ���
� � �21
H ��
*5 
Q� %��:� ������5 M�� U�X2�� 4�00� /��-� =&  ��
�

 �:�)�$ �&��.  

�:$ 
���� L$��� /�
�� ���� 
� ��[H�� �0���@� ��
� ����5 M�� U�X2�:  

1- �����5 ��
� �� ������ ��� I��2 � � ���
� ������� L
� ���
�  

2- �;��� ���
� � ������ ��3 � �@
+�+�
�2��B*�'��� ����B ��� I�;

 �A
$� � 

3- ���
� �;��� � ��@� ������ �,��
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� �� /�
���)/1�
5�@� ���g�
2��
�j U�:2'��. ����� ^�� 
3 ��  �0��$ B/	��
5��

/���2$��0�� � ���'������/ ��  �� "��C$ ����=&*5 �����X.   

%�� 4�
�3 D���� �� ������ 
3 a
T$  ��� D���� 
3 �� 4�& ��6

�� %�� "��O2$ ���D���� /��. %�� /��$  ��

� �&�� 
2C�� ��$�� 4��� ���2�� ��Q0� ��  ���;$

���� B��2�&*5 h��� �) ��*�$ ��  ���& �� .�

�2$F� ��	 � B�
� %'�  ���� U�� �  �� ��

 ��6�� D���� �� %�� 4�
�3 �\� 81�$ ����5

� �
�� �3���� h��� 4�& .%�� 
2C��C��3  ���$ 
3.����  ������ 4�& ��6��

�� �� �-#�
$ <�A03 ��  =�0�
�.��3� ^F,�  

�L�-'���2�� � ������ �$��
�3<�K �  �� ��2������ �� ��& J�
$ <�A03

�$ 
Q� �� ��2�� �� .�& �3��� 4��� ��&�$ a
T$ ����� ��3���� ��� � ��0�

 %�� /��$ B%�� ��, /��312  ��15 .�&�� ��� �� d
2X$ �����  

�S
+ �� �\-�H�
# ��
� �3�����C1 I
20� �� %��O� �� �
  eN� ��

���$� �C��3 .���& a
T$ �3���� "�$ ��
� h;1 %�� /��$ � �02	3 
O	1 

�$ =�0�
� �� ���$��
� ���) ��� ������  h��� ���
� ��
� ��=&*5  4�
�3 ��

� �2&���$��
� �� <�K "�
��~� .��&� ������ ��� �� �#�� ��4�& ��6�� D�B  ��

4��� =�0�
� �$��&  �� ���2��� D���� ��*�$ .��& 

 
(<�/� �)W�/�g-��&�-1 ��  ����
��-    

 ����� /������
��� �� ��3���� �� ��� I�����

�. �:$ ���	� ��� k5 �\� �����5  �� �) �� %��

                                                           

1- Cyclosporine 
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*� %�;1�$ .�
� ��3��� a
T$ ���� ���;$ �� 
��� I�� �09 �� �\� ����5 u�

�� >�@��� ��  dC� ����� I�����%�� . �  �� �2	��� ��� �� ���� eN� ��*�$

 .��
H �O  �0�-$ /������
��� eN� c�;�+� �����2� �$ ��0�� ��
� 4����� ��

 ���� ��
�A� /�� ��$� �� �� ����*��6� 4�&B ��0� a
T$ .���3���  �� ��

0�
�$ =�B��0� �$ �-#�
 ��@+ �� I��� .����X� ?��$�) <�6�� �� L S
+ �� ��2��3

4�
�3  ���4�$ �09 I�, �� 7
j� .����X� �� �:�) �
�A��� �� �-� �� ������� 

���� eN� ����
� %�� /��$ /������
��� ����5 �� �-� I�� B����  �� ����

� 
��~� �� ���� ���;$ ������ %+� ��3 .��& �� ����G �� ���� /�� .��3�

�$��0�$�') ���� W�� �� �C��� �� �'b I�	��mg100�mg50�mg25 ��#� 

����. .���� ��#� *�� %�
& "��T� �2@'� ���� /��  ����:A� W��� ��$� �� ����

.��& �$ ������ 
�& ����' =� ��� I�;�
5 U)B  �g���� 
�&���� a
T$ �� 4�
�3 B

.��0� 4��O2�� 
�[� <�K �0-� �&�� JXC$ �C��3 "�-��$ �� ���� a
T$ %��

.U) �� 4�
�3 �� ��& 4��O2�� 
�& �� 4�
�3 �C��3   

 D���� �� ����	�E��&  �� ���$�a
T$ ��*�$ ��
��� ���� �
�� /����

�&��B �$ ��6���& cK��-$ D���� /�� .���� ���� ��*�$ ?3��  *��6� 8@, �2@'�

=&*5 
2�� �$�&��. B���
�  BM�
'?��*1� B�����C1 "��G ��& �2��
1�
�B 

���  ��
O2�� �� ^�:�15 ���� a
T$ �� �-� �;�+�  D���� �
�# ���$ �0&�� .


A�� �.��� ?��*1� ��
9 %�� ���.  /�0V�3�*1� f��� ���� /�� �&� ?�

���� �� S�TX� �g�� ��3�$�3 �� � ��� C5 � ���� B"��G�$ %��
H.  

 ����$ �\-� ����D��  
��*��� 4�& M��*H%� :  

%�� <��) M�
'�3 B��� ��3�$ �&� 
T2X$ ?��*1�B � <��'� ��o' U�:2�3B 

 ��� ��C1 ?��*1�� �A2	� .�$ ?�5 "�+�� �3�H 
�� ����$ :�0�) ��& ���

�C9 ���O� d�O�B ���
�B ?0��� ��3���� ��6�� Lo$ �2��5*$
+ ��3B 
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 �$
H ��	 �� d� �� M��� �2  ��%��3�5 � �3 /�0V�3  ����$ �\-� ��

1 %�� /��$ ������& d-. � ��F\� �A21
H ��9� �
 U�:2'� "�& .�o' �3

����� h��
& ������ ��3 ������ � ��3� %&��:� �
1 
H� .���� �A2	� �� ?��3

 �
�AC�5 �.���� /�09 ��
� �� ���� �� �0� %�����$ ��& <��� ��9� 
H� .

�o' �� ���& �3X� =&*�������
�A� ���� ��& =&*5 �� �� ��3��.  �� �$�A03

�$ a
T$ ��������%@	� ��0� %��O� ����	  �3
� �$ 
H� /��
��0� .���&

�
H ��� B7� ��9�
� B�*�K�O�) �� �H�����$� ���& 
A�� ����$ � ���� B �

�1 ���
� �$��� �&���� ��	 ��c� ��3� ^F,� =&*5 �� .  

�$ ��0� �-� ����25 �� ��� "�# 4��$ Lo$)��0� 4��O2�� 
2�� ����� �����

(=C� "�6�*@� �� =&*5 �� ������ ����� ����25 �� ���3�[j 4����� . ��

��0� I��� . =&*5 
Q� �� U) a
T$ ���$ �� L+��  ������2 
2�')8  (����'

��&�0� "�-��$ ���� �3 ��
� �
���� �� �A2	� ���;$ /�� ��� .�A0C� �  ��K�,

��0� ������� "�$ �� �������� �� ��$�� /�  �2��5 "�
��~� 
N� %
� �� .

"�$ ��K�, /21
H ��
+ ��0� ������� U�21) ��� D
-$ ��.  �� 
$� /��

��3� �2��5 "KF2�� �� F2@$ ������� �� S�T����� ����� % 
2:� /��
��0� .

 "���� /�� �� %��10  �� e@G2  �� 
:P �� �-����C� }��� I*0$ ��3 <
� �� .

7��0$ U�21) �. L+��  ��SPF 25 ��O2����0� 4��&��� �0
� /�2�) ��@' . �� .

��0� 4��O2�� ��� U�;� 4F�.  
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 QN��C�&���  

  
 

�� ��*���
5 � /������
��� �� 7��
� �� "K�01����$2�$ 4��O��&. 

 ��& ���� �� "K�01����$�@
H�� ��O� ��:'� �$ �
�H�
# 7��) E��$ �� �0�

�� ��
� ���� ���� .��& ���# ��
��$��
� ��4�& 4��� ��& �� �� �� B �� ��� ��

 h��� ��0�� 
A$ ��& a
T$ ���=&*5 .��& 4��� �
A�� ��2�� 

 %�� L� ���6� ��� �� L�21�$ e
$ "��T� ���� /�� "��G ��S
+

��) � ����G ��3 250  ��500 �$
H �
�$  � ���6� ��� �� ���� e
$

 =����O��$� ��3 S
+ �180(�&�� ��� ��#�$ ��
�� ����� �� F-1)  �360 

.�&�� �$ ��#�$ �$
H �
�$  I��-$ ���;$mg720  �� �$� %�� ��� �� ��� ��

 �� �� "K�01����$ .��0� 4��O2�� �� ����;$ �9 c�;�+� �� �& �3��� �2OH ��&

a
P �� W��� ��$� � �2	� ��I�	�� .��0� ����:A�3 ��� ���@� .���& 4�
C1 �� 

 D�����'��2 �  L$�& �$ I�:�� �� I�
� M��� B��
O2�� B^�:� B��& ���-

�0��� �2	�� 4�00� U��
� ��3���� <��� �0��$ D���� 
��� .�&��B %���	  

�$�O0' B%��O� �� %@	� 4�& ���� � ��,
��� ��& 
H� .�02	3 �2��5 ��3 �� �

 /�� �� ����� �� "F�C$=&*5 ���� ���;$ �� ��3� ^F,� ��  ��Q0������.  ^�
&

 �� ���� ��$��72 .�
�H "��G ����5 �� �-� I�� %���  
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• ?3�� �� ���� /�� U[# ��*�0$ ��	�����3 � ��*�0$ ���  ��3���� �2�) 

�$�03�. � 
�� ?3�� f��� ���� /�S
+ ��3�.������� �$ ��&���� /��
��0� B 

���� 4��O2�� 
A�� M�� =� ��.  

•  a
T$ �� �-� %����� �
�) Ib��� �� 
$K�� ����� a
T$ "��G ��

 t� L�.������ L�$ 

•  �'�� 4�-$ �� ���� %�� 
2:�a
T$ ��&. 

• S
+ ����# � ��
� ��� �� ����.���� ������� �3  ���� "��G ��

B%��5 �� ���� ���5  �� ���� �� �� ���� L($)����G � U ����C�. W�C02�� ��

���5��& ������� I�	�� L��� ��3. 

• �C9 �� ���� <�A03 ����& 4��O2�� �C2	& %:# ����
1 U) �� �3. 

•  ������� �X	� ��
�� �� *�� � ��0�� EN+ �� ��$�� =&*5 "��C$ ����

��0�. 

• �� ����  "��
  �#�� ��15-30 �2��� �#�������� ����:A� ��
H. 

•  ���,  I�� 4�$T$���� a
 B�2O3 
3 ��� "�C��$�) 4�$ �� � <�� ��3

I�� I�� �� k�� � ��@�� �2O3 �� 
3 <��B �$ <�6�� 4�$ 
3�
�H. 

• ���� ���$ �� ^�
& �� L@+ �2O3 =� �A
$�  ?��$�) %�� <�K �3

 �� � ��$�� IF� �� � �
�H <�6�� ��$��6 �$ �� ���� ����� ��$�� �� k5 4

M�� �AC�5 /��N$ ��3�0� 4��O2�� �A
$�  �� �
. 

• ���� �2�) a
T$ �� ���� "��G �� �3���� �� �) a
T$ /�� ���� �3

 L+�� 2 �&�� �
G�1 %���.  

��H�2�� <�� �� ���� /�� ���
�� ^�� (Citogan)  � ��'��

�I�	�� "��T ��3500 �@-# �� �$
H �
�$ �50  �� ����

%�� �2CH �.
� ������ �����.  



 

 

 

 

 

 

 

 

 

 

 

 

69 �	�� �� 
���� ����	  � 

 
�=(�����1   

 
�*���
5�  ��$� ^�
& �� S�TX� =&*5 ��2�� �� �� %�� ���3���� �
�# ��

�$ 4��O2�� �) �� ����5��0� ���� /�� .�0��� �2	�� �
�
��  ����� ��  ���5��#� �� 

 ���# ��
��0-�#��� �\� =� ��� U��
� B�$� /��$ .�0����� /�� �� %�  ��

��K�, "�$  �� �
�H�
# ��
���� k5 ��
� �����5  4��O2����& ��
� �� �����5  ��

��K�, "�$ �
�  ��� ����& �O . 
  

  
 

S
+ "��G �� ���� /��5  ��50 �
�$ �$
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2�� �� @'� ^�� �� �2

 
���;$ �) �#���1B5/2B10 .���� ��#� �$
H �
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�3 ��� �� ��� �� �� =�

�$ a
T$ �[j .��&2�� ���-� �� ���;$ B����5 �� /�� a
T$ ���� .��� �3��� K�� 

=� 
H� .��0� �
#� �� �$��
� /�� c�;�+� ���� a
T$ %��� ����  �� B��0� M�$�
1 ��

���) ��� �� ��0�� �($ =� �� ?�� 
H� .����X� �� �) �%���  ���
� M�$�
1 ��

�� =&*5 ;$ .��
�A� ���� L�-'���2�� /21
H ��
���� ���� 
 ���� /�� /��$

 ��
� %����$��  ��*���
5 D���� .��& 4��� �\� E1� a
T$ ��*�$ �� �#�� ��
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� "��O2$ �)%� . %�� /��$ ���� �) a
T$ ���;$ �� ��$�� 4��� ���2�� ��

�&�� 4�
�3 ����& D���� �� %��L$�& D���� /�� cK��-$ . ?��*1�  ��
9

� ^�:� B�:2&� ?��*1� B��� 
O2���� �$ �&��4�-$ D���� .��� ��4 /��$ ��

I�
� M��� �� %�� ��� ���&���H ��3 ��6�� .��&  

cK��-$ � ��������� /� 4�
�3 �� �$ ?3�� �� "F�C$ /�� �[j .�3�
H� 

�$ a
T$ �� ���� %��� =� ��� �� .��& a
T$ e@G %�� 
2:� ��0� 
���

�&�� ����	# 
3�P �� 
��~� %�� /��$ D����  B"��G �
H 
3�P Lo$

#)�0�) B��
H %C5 � 
�� ��
9 ��K ?��*1� ?��*1� � (M��2��5 "F�C$ 

.�&��  

 =&*5 ��2�� �����$�  ��*���
5 ���;$ ��i���2� ��& ��B  /��D���� 

�$ ?3�����.�  /�0V�3D����  Lo$ �
A�� d-. B(�����
$ U))%�������

���X2�� ���5 � ��F\�  �� �-� %�� /��$$a
T ��*���
5 �, �� 4�$ �� �3

I���3 B i���2���& ��6��. *H
3 �$� ��0�� M�$�
1  ���� ����� ���� �� =&*5

B��� .��0�� EN+  

  

.���A=���>   

 
%�� �0��� �2	�� 4�00� U��
� ���# ��3���� �� ��� ����'�
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4�00� U��
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��� �0��� �2	�� ��3
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� �� �� ��2��� /��
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��� �
�  ���# ��
���
� �� ���$ �� ����'�
��� �� .�0����  �� ��� �
�
��

�3� �$���B .�
� ��3��� 4��O2��  

I�	�� "��G �� ����'�
��� ��3mg 5 ����G q��B mg1 q�� ��O� 
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G�1 �� ��� �� ��� �� .%�� �
2�� ��12  c�;�+� %���

���3 ���$ a
T$ 4�& �2OH �� ���H��� �� ����'�
��� eN� .��&
3 �� ��� 

� �-#�
$)%�*��4����� (=�0�
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��0� .�& �3��� �
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�
�A��� �� �-� �� �� ����'�
��� S
+ =�0�
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$ ��3��� �� ���

S
+ �$� .����X��
�A��� ��0�� �($ �� �� ��&�� �2&�� 4�
�3 �� �� ��2��3 ���

���� eN� .����X� �� ��2��3���� %1
H <�6��  ������5 =&*5 ����� =�� �

�$.�0� ��Q0� ��2��
� e�(G ���;$ �� �� ��2��3���� ���;$ �� �0�  

�� �� �@��# D���� a
T$  ����'�
�����6�� %�� /��$ �&� L$�& �

��*1� B���
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' �� ^�:� B�����C1 ?

B��
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 U��
� ��
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A�� ����� ��$�5�� �� ����'�
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�$ ��#�$ �$
H
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5 U)��& a
T$. �� .��C� a
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1- Sirolimus Or Rapamune 
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��� a
T$^�:� L$�& ���& ��6�� %�� /��$ �B I�:��B  �� F2�� 
N� ?��*1�

%��O�B �*1�(M�#)�0�) ��6�� B���
� B���� �� B��� ��
9 eN� ?� <�� B

B %��@�B �5 � %���$ �&��.   

 

��/���� �� W�����>��f1 
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# ��N0$ �� *�� ���� /�� 4�
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 ���;��*� <
1100�$
H �
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T$ ���;$

.��3�� 
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1   - Azathioprine Or Imuran 
2- Trimethoprim 
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1- Acyclovir  Or Zovirax 
2- Cytomegalovirus 
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1- Micostatin 
2- Nystatin 
3- Ranitidine hydrochloride ( Zantac) 
4- Famotidine ( Pepcid) 
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1- Prelosec (Omeprazole) 
2- Cimetidine ( Tagamet) 
3- Sucralfate ( Carafate) 
4- Sucralfate ( Carafate) 
5- Athorvastatin 
6- Simvastatin 
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1  - Hyperacute rejection 
2- Acute humoral rejection  
3- Chronic humoral rejection 
4- Acute T-cell-mediated rejection 
5  - Chronic T-cell-mediated rejection 
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